Q1.

Circle two numbers that add together to equal 0.25 Q) ..Z
- = +0O-05
‘005> 023 (02 o05 025
1 mark
Q2.
Write these numbers in order of size, starting with the smallest.
bicpest smallest
N7 v ¥ v
1.01 1.001 1.101 0.11
O- 1l [.00l ].O1 |. O]
smallest
1 mark
Q3.
This is part of a number line.
Write in the missing numbers.
2.09 2.093 2.09 2.09%
-
1 1 1 I 1 l 1 1 1 |

| . e 2\
T 209 2.092 &OQQ-T 2-047 ZMZ.I

2.089 2 A5

1 mark



Q4.

Circle the two numbers which add up to 1

01 (065) 099 045 (035)
. ‘\‘\\-;ﬂ“/ . . \-\_///
1 mark
Q5.
Worite the same number in each box to make this correct.
P 3.5 3.5
+ + = 1056
y 4 i:) 1 mark
31675
Q6.
Calculate 13.6 - 2.8
Z
186 0-%
i 1 mark
1 O0-%
Q7.
Circle two decimals that have a difference of 0.5
— 4 A
02 (025) 04 045 06 ( 075)
o T — 1 mark
Q8.
Calculate D2.85 + 143.6
| ¢ 3. 6 | 6. =5
=y < =
+ 11 8o 1 mark
| 9645
)



Q9.

Write in the missing numbers.

Rounded to the
Number
nearest whole number
5.05 L
5.55 ,!::
445 L’J;“_
454 2N
e
Q10.
Here is a number line.
Y X
0 |
S B S N N B
05

What is the value of X?

Estimate the value of VY.

1 mark

07
~ 22
P P N |

2 marks

1 mark



Ql1.

Write these numbers in order, starting with the smallest.

smallest

J J
0.78 0.607 5.6 0.098 4.003

W

~N ARG O ~ CNAT M X i 8
O !\Jci%}j B :QCJ ,/ O - /(_} L'L. U;}‘j}

smallest

Q12.

In this tower, two numbers are multiplied to give the number above.

12

Write the missing numbers in the tower below to make it correct.

75 2.5
e ST L
S| I
10 -5
/‘/’} piRS. 3

1 mark

2 marks



Q13.

6.7 68 69 1

What number is marked at A?

Ql4. 1.5 x&ble

Write the missing number.

1 mark

4D S 4S5 415

NN
125 = [2.5] = 75 = 15 15 3 45 G 7%5
\——-———\/-—.__,/’ 5><. l~5
) = 5 1 mark
sMz2°s
Q15. .
Write these numbers in order, starting with the smallest.
biseest Srallest
v Vv
8.12 1.8 8.118 8.2 1.28
L.2g || L% || U8 ||3812 || B-Z
smallest
1 mark
Q16.
What number is halfway between 1.4 and 2.1?
- T .25
1S I-TJ/ -9
] | & tmark
e 16 -8 2 2.] ' .75
4+ 2.

GRS

2350



25.2
Q17. | 3.2
Write in the missing number. | 3-0
4.7 85 + 147 = 102 + 12
-5
132 .2 1 mark
v
Q18
The number 7.5 is halfway between 5 and 10
h'alfway
between
5 7.5 ' 10
Write in the missing numbers.
halfway
© between
3.3
, o 6
3. % 3.8 &4 9
Ll— ‘:’7 1 mark
2[a.'y
halfway
between
-2 0.5 1
1 ] 1 mark
o Y
| &



